The world has many structures that look impossible
to build. One of these is Stonehenge. Stonehenge is a
prehistoric monument in England. It is a circle of huge
stones. Each stone is about 13 feet (4 meters) tall and
7 feet (2.1 m) wide. They each weigh about 25 tons.
That's the weight of more than 12 cars!

The stones were carved into the same shape. Then they
were planted upright in the ground. Stonehenge is more
than 5,000 years old. People 5,000 years ago didn't have
the equipment we have. So how was Stonehenge built?

The largest Stonehenge stone weighs about 30 tons. That's about the
weight of 15 elephants!




